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Instructions for Candidates

1.  Write your Roll No. on the top immediately on receipt of this question paper.

2. This question paper has 2 parts. Part A is compulsory for all examinees. Part B
is meant only for those who have not offered Computerised Accounts.

3. Part A and Part B are to be answered on separate Answer Books.

4. Attempt ‘ALL’ questions. Show your working notes clearly.

5. Answers may be written in Hindi or English but the same medium should be
followed throughout the paper. i
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PART - A (Wus )

What are accounting standards ? Who issues accounting standards in India ?
Enumerate the objectives of accounting standards. (7

OR
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What do you understand by accounting concepts and conventions ? Explain
realisation concept and it’s exceptions. @)
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2. Mr. X had prepared the following Trial Balance as on 31st March, 2013.

Particulars Dr. Amount Cr. Amount

4 (4
Stock as on Ist April, 2012 5,00,000 -
Purchases 31,00,000 -
Purchases return — 45,000
Sales 41,50,000
Returns 55,000 —
Cash in hand 2,50,000 -
Cash at Bank 5,00,000 -
Trader’s Capital - 22,59,200
Rates and taxes 50,000 -
Drawings 45,000 —
Salaries 95,000 -
Postage and telegram 1,05,000 #
Insurance 90,000 —
Salesman Commission 78,000 —
Printing and stationery 95,500 =
Advertisement 1,70,000 -
Furniture and Fittings 5,50,000 -
Motor Car 48,000 —
Discounts 50,000 75,000
General Expense 65,700 =
Carriage inward 10,000 -
Carriage outward 22,000 —
Wages _ 50,000 —
Sundry debtors/creditors 10,00,000 4,00,000
Total 69,29,200 69,29,200
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You are required to prepare Trading and Profit & Loss Account for the year
ended on 31st March, 2013 and Balance Sheet as on that date after making the
necessary adjustments.

You are provided with the following information :

(i) Closing stock as on 31st March, 2013 X 1,45000.

(i) Mr. X had withdrawn goods worth ¥ 50,000 during the year.
(iii) Purchases include purchase of furniture worth ¥ 1,00,000.
(iv) Debtors include ¥ 50,000 bad debts.

(v) Sales include goods worth ¥ 1,50,000 sent out to SS & Co. on approval
and remained unsold as on 31st March, 2013. The cost of the goods was

¥ 1,00,000.
(vi) Provision for bad debts is to be created at 5% of Sundry Debtors.
(vii) Depreciate Furniture and Fittings by 10% and Motor Car by 20%.
(viii) The salesman is entitled to commission of 10% on total sales. (12)

OR

Mr. Akhil started his business on 1st April, 2012 with a capital of X 45,000. He
immediately purchased furniture for ¥ 24,000. During the year he received from
his uncle a gift of ¥ 3,000 and he borrowed from his father a sum of ¥ 5,000.
He had withdrawn ¥ 600 per month for his household expenses. He had no bank
account and all dealings were in cash. He did not maintain any books but the
following information is given :

4
Sales (including cash sales X 30,000) 1,00,000
Purchases (including cash purchases % 10,000) 75,000
Carriage inwards 700
Wages 300
Discount allowed to Debtors 800
Salaries 6,200
Bad debts written-off 1,500
Trade expenses 1,200
Advertisements 2,200

PTO.
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He used goods worth ¥ 1,300 for personal purposes and paid T 500 to his son
for examination and college fees.

On 31st March, 2013 his debtors were worth ¥ 21,000 and creditors ¥ 15,000.
Stock-in-trade was valued at ¥ 10,000. Furniture to be depreciated by 10% p.a.

Prepare Trading and Profit and Loss Account for the year ended 31st December,

2013 and Balance Sheet as at 31st March, 2013. (12)
e ve ¥ 31 W 2013 =) Freafeiae 3w - after semr 2

a3 Br. % Cr. 3
1 30, 2012 = &R 5,00,000 =
w 31,00,000 =
W GIh . 45,000
fesht 41,50,000
ARt 55,000 =
FEAM Al 2,50,000 -
d& q T 5,00,000 =
AR S g = 22,59,200
e ve W 50,000 -
e 45,000 -
ERE) 95,000 -
TWRT Td AR 1,05,000 -
ElLil 90,000 -
fasrasal =t wee 78,000 =
BUE IR LI 95,500 -
[EEIEE 1,70,000 -
TR 3R e 5,50,000 =
A &R 48,000 =
BT 50,000 75,000
T Y 65,700 L
FARE Golrs 10,000 -
RIS 22,000 -
Torgd 50,000 -
fRfey R 9 de= 10,00,000 4,00,000
Ex| 69,29,200 69,29,200
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T A 30en 2 fF 31 94, 2013 @ @arE g0 99 & forg SR stk @t 7 Bl @ @
I R = sawae TEeF 5T g - 99 99

TR TR G & T 2

(i) 319, 2013 @ 3if @i T 1,45,000 =T 2 |
(i) =¥ & R Fo @@ I 50,000 & A e € |
(iii) W ¥ weeR o e T 1,00,000 Rk 2 1

(iv) 7R ¥ T 50,000 rEMeA 01 | WA 2 |

(v) faht ¥ T 1,50,000 9 7t et 2 W o v @& U F ol SIEie W A ol
T 9 31 W 2013 9% a8 o S € w1 ? 1 5@ W &6 @nE T 1,00,000
¢

(vi) sEien SeRal & forg fafder 3eR W™ 5% T WEUR e 2 |
(vii) weR 3R i W 10% qa WX HR T 20% o R A A8 FAl € |
(viil) fosraeal oo SR ® 10% T T THR 2 |

rerar

FRae X O FEEE T 45,000 W GSU A 1 WA 2012 A URA fowar | e e
% 24,000 T R w5 | ad & 9w S@ s = ¥ 23,000 Se @ | R
I o farar ¥ 5,000 SUR forg | 3E 3 el @ & o T 600 Wi wE 3eRa
Y | IS T ¥ @l A A1 IR Wl FEER Thd A R W A | IE I T
& W@ g e g @ T R

PTO.
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Z
fosil (e faft 230,000 wfem) 1,00,000
% (T HT % 10,000 wfea) 75,000
SR gorrs 700
BN 300
TRl W R T s | - 800
AaT 6,200
e w9 forar T 1,500
i =g 1,200
[EEIEE) 2,200

m?lsoomwﬁﬁtm%ﬁqmﬁmaﬁwsoo O T @ e 3k
TS Bg & e Ry |

31 9N, 2013 & I¥D 2R < 21,000 3R AR % 15,000 = ¥ | =R ¥ @R =5
T 10,000 e I/ 1 R R A 10% @i o w & fvar

31 9, 2013ﬁma§%ﬁqiﬁnaﬁzmamﬁrmmﬁwsﬁﬁﬁxaﬁ
-9 T 1 |

3. (a) Discuss the objectives of inventory measurement ? “

(b) From the following data calculate the value of closing stock according to
FIFO using :

(1) Periodic Inventory System
(i) Perpetual Inventory System
Opening Stock  October 1 400 Units @ % 7.50 each

Purchases
October 5 600 Units @ ¥ 8 each
October 15 500 Units @ ¥ 9 each
October 25 400 Units @ ¥ 8.50 each
October 30 300 Units @ % 9.50 each
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(a)

(b)

Issues
October 3 300 Units

October 10 500 Units
October 17 400 Units
October 26 500 Units

October 31 200 Units 8
OR

Define depreciation. What are the contributory factors for decline in the
value of fixed Assets ? 4)

Metropol Ltd. acquired a machine for ¥ 5,40,000 on 1* April, 2010.
Depreciation was to be charged at 20% on Straight Line Method. During
2012-13 a modification was made to improve its technical reliability at a
cost of ¥ 50,000 which it was considered would extend the useful life of the
machine for two years. At the same time an important component of the
machine was replaced at a capital cost of T 10,000 because of excessive

wear and tear. Routine maintenance during the said accounting period cost

% 7,500.

Show the Machine A/C, Provision for Depreciation on Machine A/C
and charges to Profit & Loss A/C for the year ending 31 March, 2013
only. 8)

(%) e aRAe (Inventory Measurement) @ Se¥al ol GUIH ifVT |

(@) e swdl ¥ FIFO wgft & SuR W stf~w efoa or JeaicheT

(i) @mafer A= 9=

(ii) waa A= 9

£10.



5732 8
& MR R HIG :
W WA s | 400 318 @ % 7.50 Wl
el
JFCH 5 600 ®E @ T 8 Wiy
FFTR 15 500 3T @ %9 Wl
FFTR 25 400 3 @ ¥ 8.50 ufy
JFTR 30 300 3@ @ % 9.50 Wi
St
JHCH 3 300 gTS
FFTR 10 500 ==Tg
e 17 400 e
T 26 500 gTS
R 31 200 &
3T0dr

(31) Weaem it AR A | T wriEl @ 4 A 0 T 9 FRE AT R ?

) A fro F 1 3, 2010 T T T < 5,40,000 ¥ e oY 1 wwaww Qe
W& UEf B IMUR W 20% W & A Frar ST a1 2012-13 & SR w9 w5
Tehiichl TagamaaT § R 27 U TR (Modification) ®q T 50,000 & fRa 1
@@ 7l 1 ST Site 2 9 SR 97 W | $6 w6 e v Aeea
qoit sl I frEet Goir @ 10,000 N W Sedltion TE He s qRom o |
A TEREE W ol FE ¥ 27,500 = R W

A W, AT R A8 MEu Sl S o™ 9 g @ 31 96, 2013 &t
T B o 99 & forg s\ e

4. N Ltd. Delhi opened a branch in Patna on 1-4-2012 to which goods are invoiced
at a profit of 20% on sale price. The branch sells goods for cash as well as on
credit. Branch expenses are met from branch cash and balance amount is remitted

to H.O. The branch accounts are maintained at H.O.
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Following further details are given for the year ended 31 March, 2013 :

Cost of goods sent to branch

Goods received by branch till 31-3-2013 at invoice price
Cash remitted by H.O. to branch for expenses during the year
Expenses incurred at branch

Cash remitted to H.O.

Cash received from branch debtors

Branch bad debts written off

Branch cash as on 31-3-2013

Branch debtors as on 31-3-2013

Branch stock on 31-3-2013

4

1,60,000
1,60,000
10,000
15,000
1,25,000
1,05,000
7,000
5,000
8,000

10,000

Show the necessary ledger accounts according to Stock and Debtors System in

the books of Head Office.

OR

(12)

A Ltd., with its Head Office at Gurgaon, has an independent branch at Noida.
The Head Office at Noida close their books of account on 31 March. Pass

journal entries in the books of Head Office and Noida branch for the following

transactions :

(i) Noida branch purchased computers for ¥ 80,000. The fixed assets accounts

are maintained at H.O.
(i) Depreciation @ 15% is to be provided on computers.

(iii) Noida branch collected ¥ 1,00,000 from a customer of H.O.

(iv) H.O. paid % 10,000 as freight for goods sent to the Noida branch.

PTO.
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(v) Goods worth ¥ 90,000 sent by H.O. on 28" March, 2013 to Noida branch
were received by the branch at 4™ April, 2013.

(vi) Noida branch sent goods worth ¥ 40,000 to Meerut branch on instructions
from H.O.

(vii) Noida branch collected rent amounting to ¥ 20,000 on behalf of H.O.

(viii) Noida branch remitted ¥ 45,000 on 29* March, 2013 which was received
by H.O. on 3™ April, 2013. ’

(ix) The salary of Mr. Ashok, an employee of H.O. was ¥ 60,000 per month.
Ashok worked for 10 days out of 30 days for Noida branch.

(x) Noida branch profit for the year ended 31t March, 2013 amounted to
' ¥35,000. (12)

1-4-2012 &t v f1o feeelt 3 9o & v v @it 5@ et fasha 9690 W 20% s
R SaEd fRar SIaT @ | IRl A F AdE 3R JUR SFl W A9l & IRl g IRl &
TR A AT AW RN T FETGI SR VS &t ol & | IRl @ Y SR 817 @
SIS

Fefafaa 5= g 31 W= 2013 & @ §¢ a9 @ forg @ i ¥

4
IR A NS M A D AN 1,60,000
TAEE T W OWRAl gRT WIS Ao 1,60,000
I & N TR I & o wue wEied g)OARe e 10,000
IRAT SR 4 15,000
WU R ol AN ARl ' 1,25,000
TRAT GERl ¥ W i 1,05,000
TRA )T J@ied 0 (Bad debts) g @m forar wmn 7,000
31-3-2013 &t ARAT TRl 5,000
31-3-2013 = WEAT &R 8,000
31-3-2013 &l RSl wiEH 10,000

with 3 ¢E 99 B JTEN HATH ok @I Yo e o Teen § a9 |
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Al

T foto, fraent werT wrie ema § 2, 9t e Tade I el A © | WU wried ST
T 31 WY §¢ e 8 | iR aerl @ e e st @ st A @it
TETeRl W AoHRTET Mfatedr St

(i) e R FR FFAEE 6 T 80,000 | TS Tl S @I W e g0

@l W #

(i) =T R 8™ @ 15% =iferg |
(iil) weneT wEfam & T IUHRR ¥ st I 3 T 1,00,000 TR R 0
(iv) o FEied SR ARET MET 9o 3T A RN &= & A < 10,000 1
) 28 ¥, 2013 T U FREIGE SR A T A T 90,000 IRAT H 4 I, 2013
I YETET B |

(vi) v wEied & FEMaR AEeT TR g7 IS ARG &l SSl @1 A < 40,000 |
(vii) ST AR R T Fdied & forg ganfa feaan 220,000 1

(vii) 29 ¥, 2013 @ AT ARG SR I, TR T 45,000 W T FREE T 3 I,
2013 Y Y & TE |

(ix) T iR & Ueh el S -3 T 60,000 WY A 2 1 @ 30 A
FJ 10 o et omar & o0 M R

(x) 319, 2013 & fore Aer Iwar &1 @+ 35,000 o |

(v

(a) Distinguish between Hire-purchase Sale and Credit Sale. 4)

(b) X is a Hire-purchase Trader and sells goods on hire purchase basis at cost
plus 50%. From the following information prepare Hire-purchase Trading
Account to determine profit or loss for the year ending 31t March, 2013.

2012 T

April 1 - Stock with customers at hire-purchase price 90,000
Stock at shop at cost 1,80,000
Instalments due (Good) 50,000
Goods repossessed (worth ¥20,000) valued at 5,000
Cash received from customers 6,00,000

PTO.
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2013
March 31, Stock at shop at cost
(excluding goods repossessed)

2,00,000

Instalments due but not received 90,000
Stock with customers 3,00,000
(®)

OR

From the following Receipts & Payments Account of a club and from the
information supplied, you are required to prepare Income and Expenditure Account
for the year ended 31 March, 2013 and a Balance Sheet as on that date.

Receipts & Payments Account
For the year ended 31% March, 2013

Receipts % | Payments 3
To Balance b/d 70,000 | By Tournament Expenses 11,000
To Subscription By Furniture 40,000

2011-12 6,000 | By Curtains 8,000

2012-13 . 1,40,000 | By Crockery 4,000

2013-14 8,000 | By Sports Material 12,000
To Donation for Building 80,000 { By Salaries 13,000
To General Donations 20,000 | By Honorarium 26,000
To Legacies 60,000 | By Charities ‘ 80,000
To Sale of Old Furniture 7,500 | By Advertisement 2.500
(Cost X 8,000)

To Endowment Receipts 1,00,000 | By Rent & Rates 14,000
To Sale of Newspaper 4,000 | By Advance against Construction 50,000
_ of Building

{To Rent Received 15,000 | By Cost of Entertainment- 14,500
To Advertisement Receipts 4,000 | By Payment to Creditors of Last Year| 4,000
To Proceeds of Concerts 12,000 | By Electricity Installation Expenses 30,000
To Tournament Fund 15,000 | By Library Books 8,000

| To Sale of Sports Material 800 | By Newspaper 13,000
By Postage 7,000

By Bar Purchases 16,000

By 7% Investment (1-10-2012) 1,00,000

By Balance c/d 89,300

5,42,300 5,42,300
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Additional Information :

(i) Balances on 31 March, 2013 : 3
Sports Material 1,000
Bar Stock 1,200
Postage Stamps 200
Subscription Outstanding 7,000
Salaries Outstanding 500
(ii) Salaries paid included ¥ 800 for the last year ¥ 100 for the next year.
C O (iii) Investments included investments out of Building donation ¥ 80,000. (12)
(&) TER-9RW g 3R IuR fawa o =R HIY |
(W) T Yo B - TR SN 8 3R 98 B WS SMUR W AR S 50% W AA
¥ 2 | FeafoRad GEFT & STUR W SR -TREW ¢l @ a9 At 31 A,
2013 =1 T Y 9§ @ forg AT @ B @ FuRw & @@ |
2012 3
T 1 TRR-UEW e W IUHHS @ I @ 90,000
TEE W AN W Tl 1,80,000
[ (& frmm @ (3=5) 50,000
AA H AT (@ T 20,000) 5,000
JqAHBT d W AAha 6,00,000
2013
W= 31 A W AR R @A 2,00,000
(TEifew W@ & ki)
¥ frmm wg W Rl 90,000
ITAE & T A 3,00,000 -

PO,
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JT=qdr

TR e o FRATRT Wil iR ST W | Ve GEel @ TR WS srer 2
31 9, 2013 =t T 99 & e s i @ @ qon 3@ Rl @ o o s

Wit 3R S T
319/ 2013 @ @9 99 & e

et 3 | W= 4
T AN A T 70,000 | =% THARE =@ 11,000
T dar g HeR 40,000
2011-12 6,000 | =15 9 4 8,000
2012-13 1,40,000 | sTg hiehdl 4,000
2013-14 8,000 | 13 @« AR 12,000
T W& B9 o 80,000 | &g AT 13,000
T R T 20,000 | =15 #Fed 26,000
T 4aEd 60,000 | =g == 80,000
TR TR AR 7,500 | arg T | 2,500
(@ T 8,000)
T e Wit 1,00,000 | =g fohan & = 14,000
T F@ER @ R 4,000 | sz e & fow geanw 50,000
T fewan wfte 15,000 | 1% FARS F AN 14,500
¢ fasom wifta | ; 4,000 | =1z et af & IER @l WEE | 4,000
T W | WIS 12,000 | =g faga o =@ 30,000
T T ws 15,000 | =15 WERY  TER | 8,000
T A A W 800 | a5 srREaR 13,000]
1z A 7,000|
E IR wA 16,000]
g 7% R (1-10-2012) 1,00,000
qME AT A TE@ I 89,300

5,42,300 5,42,300]
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(i) 31w, 2013 st 3w
Qe & AR
TR iR
e feame
TRl <eT

THAT adT

15

z
1,000
1,200
200
7,000

500

(i) fsd af & forw %soowm%&%mﬁoowﬁmwn

(iii) R I wor 3 o F A AW T 80,000 wRwlE ¥

PART - B (@vE «)

6. (a) Write a note on Garner Vs. Murray rule and its applicability in India. (5)

(b) A, B and C are partners sharing profits and losses in the ratio of 4:3:3. Their

Balance Sheet as on 31% March, 2013 was as follows :

Liabilities 4 Assets 4
Sundry Creditors 3,70,000 Cash in Hand 30,000
A’s Capital 4,00,000 Sundry Debtors 3,40,000
B’s Capital 3,00,000 | Stock 3,90,000
C’s Capital 2,70,000 Plant & Machinery 5,10,000
B’s Current A/C 40,000
C’s Current A/C 30,000
13,40,000 13,40,000

LA
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The firm was dissolved on the above date. The assets were realised and the
amount was distributed among partners at the end of each month.

3

(i) April : Debtors 1,50,000
: Stock 2,00,000
: Expenses 5,000
(ii) June : Remaining Debtors 1,00,000 ;

Balance of Stock 2,40,000 ‘

(iii) August : Machinery 1,80,000 -

Expenses 6,000

(iv) September : Part of Machinery valued in the books at ¥ 50,000 was
taken by A in part discharge of an agreed value of
¥1,00,000. Balance of Machinery was sold for

<3,00,000.

Partners decided to keep a minimum cash balance of ¥ 20,000 in the first |

three months and ¥ 10,000 thereafter. Show distribution of cash using
Maximum Loss Method. - : (15)

OR

X, Y and Z were partners in a business. Their Balance Sheet as on 31% March,
2013 was as follows :

Liabilities 4 Assets 4
X’s Capital 1,60,000 | Properties 4,00,000
Y’s Capital 1,00,000 | Machinery 4,00,000
X’s Loan 2,00,000 | Fixtures 1,60,000
Payables (Creditors) 10,00,000 Stock 1,60,000
Book Debts 2,00,000

Cash 10,000

Z’s Capital 1,30,000

14,60,000 14,60,000
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Due to bad financial position of the partners, the firm was dissolved and all

partners were declared bankrupt. The assets were realised as follows :

Book Debts 45% less, Properties ¥ 1,60,000, Stock ¥ 1,00,000, Machinery

Y
el@ 2

- Private Assets

4

2,50,000
1,80,000
2,50,000

T2,00,000, and Fixtures ¥ 40,000. Realisation expenses amounted to I 10,000.

The private financial position of partners was as follows :

Private Liabilities

2,50,000
2,00,000
2,30,000

Prepare necessary ledger accounts to close the books of the firm.

(37) TR TR W P ok wRa ¥ e AN B W T oo fofed o

(20)

(@) U, ®, IR G AEER T A 4:3:3 F FTAG A A IR S Sed € 1 31 A, 2013
I g 9 T W e

IR | ot 4

fafaa o/ eR 3,70,000 | W Hehat 30,000

T @ oo 4,00,000 | fafear IR 3,40,000

¢ @ CU I 3,00,000 | e 3,90,000
[ A o 2,70,000 | wie T A 5,10,000

EUC I CERCIR ) 40,000

@/ w A @ 30,000

13,40,000 13,40,000

Sk T o1 g o Rear i | geaidl o Aeneieor TR T 3R 9w

MR FEER & 9 Y WE & 3 ¥ fadRa & S SR |

B0,
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(i) 3mTE

(iv) faas

AEER R U5 A AR A e Ahal AW T 20,000 3R W€ A T 10,000 WA

18

AY SR
Ay Eiear

HIAA
=g

AL T e WRT S T&deht & < 50,000 o 98 A BRT SRR
WA D forg T 1,00,000 % 20t 1 1 09 &1 3 30T 2 3,00,000

A &= I

4
1,50,000
2,00,000

5,000

1,00,000
2,40,000

1,80,000
6,000

o1 ot foman | siftrene T G0 Rl JERT o gU Aehel @ faeRor Saied |

T, 18, 3R OIS U A9 W WEER § 1 31 W, 2013 Y S qor 9 e TR

N

qr :

T T | onfaan z

X @t gont 1,60,000 | @t 4,00,000

Y &t et 1,00,000 | wE=Q 4,00,000

X & Loan 2,00,000 | fherrd 1,60,000

W I (IER) 10,00,000 | sfn 1,60,000
T R 2,00,000

BET) 10,000

VA Sl 1,30,000

14,60,000 14,60,000
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WEER 9 waE g Rufy & aRwr wt T o) @ T IR 9 aRerl @t Rarfern
it o faar | Tt @ AendieRer R TR g3

T WU (IR ) 45% A, qErerEn 2 160,000, Wi % 1,00,000, FEHAG % 2,00,000
Tl fhaaed T 40,000 | FeReteor =99 T 10,000 ¥ 1| WRERl @ Aol Rufy e wer
q

ot wwafat ot el
4 4
T 2,50,000 2,50,000
g 1,80,000 2,00,000
= 2,50,000 2,30,000

W I ThaEl @ 92 R B oY JEsde deR | SR |

(2000)



